NO.1 25m&ZAa—JLxv%

[148] [E28%] [#&x] [(FH#E] [K£]
1
2 Ely B4 BF  14%k 5m 4] 27.44
3 =% X& BF 13%F 5% b0 31.20 27.44
4 FaF &£ BF 13k 1 /N2 27.29 23.48
5 74753 Svx74~ BF 168k 9% /M4 36.06 25.55
6
7
[2#8] [F28%x] [&xE] [(HE#E] [K£]
1
2 5K FET BF 68 9w /M4 25.20 2555 [ KR=#)
3
4 A BE BF HE 11E /e 29.56 0.00
5
6 BN BT ZF  HE 108 /S 29.07 28.86
7
[1#8] [528%] [&xE] [HE#E] [K£]
1 FETZARVEKR ZF 6% 9% /3 18.01
2 5H HL ZF 6% 8% /3 30.56 18.01
3 MR E ZF 28k 9% /M 28.62 16.00
4 Kig 1$50 ZF 58% 9% /M 26.90 16.00
5 INFF FIF ZF {p 9% /M 29.40 16.00
6 SH EF TF HBE 10 /5 19.09 14.92
7
[2#8] [528%] [&x] [H#E] [K£]
1
2 -F% XE BF 13k 5% % 32.32 4R 35.00 23.99 (REEHK]
3 AR #Oth BF 13k 58 4] 32.34 23.99
4 INE HEMR BF WHE 6% /M 26.72 4R 35.00 0.00 (REEHK]
5 Kk 54 BF 13k 6% /M 3417 5% 40.00 2253 (REEHK]
6
7
[3#H] [528%] [&x] [(H#E] [K£]
1
2 \A BF 13k Tm 2 29.89 19.94
354753 Svx7y  BF 168k 9% /M4 31.19 16.04
4 =@ Fa BF 2%k 10m% /15 22.19 45R 27.00 15.53 [HEESH])
588 18 BF 1%k 10m%  /I\5 25.89 15.53
6 BF BEA BF HE 10§ /5 17.87 15.53

7




NO.3 100m{@AFARL—

[148] [F28%x] [(#&xE] [H#E] [K£]
1
2 AR EE TF 1#% 63 /M 2:47.83 24k 2:3000  1:54.43
3 s H ZF 1% 8@ /3 2:2586 1:40.13
4 K¥ D TF  HBHE 108 /5 24k 2:03.00 1:26.57
5 &N HATE ZF HE 108 /5 2:.01.32 2#%  2:.0300 1:26.57 [#E )
6
7

[2#8] [F28%x] [&xE] [(HE#E] [K£]
1R EX TF WHE 6@ /M 2:31.48 2%k 2:30.00 0.00
2 B% BEE ZF BHHE 6 /M 2:12.62 0.00
3 EFHH HDl& TF BHE  TE N2 0.00
4 B KB XF WHE 8% /2 1:51.33 0.00
5 K #F TF BHHE 9% /M3 1:47.21 0.00
6 ERAKR K& TF WHE  8&% /3 1:54.24 0.00
7

[3#H] [528%] [&xE] [HE#E] [K£]
1
2 TH RF BF HE 9% /4 2:0879 1:35.61
3
4T ER BF HE 148  $2  1:36.04 2%k 1:32.00  1:09.66
5
6 SH ##i BF 28k 8E /M3 2:16.26 2%k 21600  1:44.05
7

[4#8] [528%] [&x] [H#E] [K£]
1
2 ER B4 BF ®HME 7w /M 2:10.88 0.00
3 A EE BF ®BHE 6% /M 1:52.68 0.00
4 % KE BF ®BHME 7% /2 2:0266 0.00
5 Ly EHA BF ®BHME 8% /3 1:49.73 0.00
6 Ki BE BF ®ME 8% /3 1:59.00 0.00
7

[1#8] [528%] [&x] [(H#E] [K£]
1
2
3/INE HEMR BF ®HE 6@ /M 31.30 0.00
4
5 il # BF 68k TEm 2 32.24 23.71
6
7




NO.5 25m3E k¥

[148] [F28%x] [(#&xE] [H#E] [K£]
2 37.60 e 35.00 22.44
3 Kig X500 ZF 58 9% /M 33.76 22.44
4 N EFE FHIF ZF p 9 /M 42.85 22.44
5 &K BT BF 68k 9% /M 29.51 4R 35.00 23.27 [#E )
6 A A BF HE 10 /5 24.73 20.61
7

[1#8] [F28%x] [&xE] [(HE#E] [K£]
1
2 Befy ERE ZF BHHE 6 /M 43.94 0.00
3
4 B fith BF WHE  Tm /M 35.30 0.00
5
6 =48 YIFA TF $BE 1FE /6 18.80 17.28
7

NO.7 200mfE A AFL—

[1#8] [528%] [&xE] [HE#E] [K£]
1 EAR HE TF HBE 8%, /M3 5:19.27 1%k 4:31.00  3:34.81
2 |E Ly TF $BE  9E /M 1%k 3:49.00 3:17.63
3 figE FE{E ZF $$E 9% /4 506.98 1#%  3:49.00 3:17.63
45H EF TF  HE 10 /S5 42849 1#%  3:49.00 3:07.19
5 ER A TF  HE 11m: /6 35049 1#%  3:2800  2:57.71
6 = YIFH TF  HE 11m: /6 40779 1#%  3:2800  2:57.71
7

[2#8] [528%] [&x] [H#E] [K£]
1
288 =A BF HBE 8w /3 45229 1#%  4:31.00  3:54.41
3R KE BF BT 105 /5 40280 1#%  3:49.00  3:11.54
4 85K BB BF HE 10% /5 42585 1%%  3:49.00 3:11.54
5 BN HA BF BT 11 /6 40312 1#% 31800  3:.02.79
6 JKZH HEAER B HTE 3% 2 3:03.63
7

[3#H] [528%] [&x] [(H#E] [K£]
1
2 Ly Kl BF¥ H®HE T /M2 45886 1% 4:31.00 0.00
3=H BE BF WHE 9% /4 3:09.78 1#%  3:49.00 0.00 [(REAH]
4 IZ#k BERE ZF BHHE 9% /M 3:2550 1% 3:49.00 0.00 [(BREEE])
5 Fi X TF BHE 10 /S 0.00
6
7




NO.8 50m& k&

[148] [F28%x] [(#&xE] [H#E] [K£]
1
2 s H ZF 1% 8@ /3 1:0550 47.47
3
4 +tE 2B BF 1% 10 /5 59.84 39.32
5
6 K EliE BF BT 12 41 42.27 30.30
7
[2#8] [F28%x] [&xE] [(HE#E] [K£]
1 8% BEER ZF BHE 6 /M 1:01.60 0.00
2BR MF BF ®E IE 2 53.60 0.00
3 I EE XF WHE  T& /M2 1:04.35 0.00
4 g K TF HHE 9F /M 44.23 0.00
5 &R A BF ®HE 11E /6 38.25 0.00
6 A EHY BF H®HE 6@ /M 52.72 0.00
7
[1#8] [528%] [&xE] [HE#E] [K£]
1
2
S 46,61
4
5 A 2 ZF 28k 9% /M 1:23.34 46.61
6
7
[2#8] [528%] [&x] [H#E] [K£]
1
2 £ H FEB TF WHE 6% /M 1:12.86 0.00
3 RE¥F EHE TF WHE 6% /M 1:34.98 0.00
4 EH@R H20F TF WHE TE /N2 0.00
5 %% Ef ZF WHE TH /2 1:12.86 3%/ 1:20.00 0.00 [HREESHE])
6 KM #Z2F ZF WHE 9% /NS 59.18 0.00
7
[3#H] [528%] [&x] [(H#E] [K£]
1
2 fhly BF 68k TE /2 12297 56.00
35H ##% BF 2% 8m /N3 1:23.10 51.48
4 Bl BE BF HT 10 /M5 1:00.76 45.30
588 18 BF 1#% 10 /D5 1:07.84 45.30
6
7




(448) (E8x] [(&E] [HE] [XK=%)
1 5B &% BF ®WHME  TE /M 1:18.17 0.00
2 & fith BF ®ME  Tm /1 1:39.81 0.00
3
4 kB FX BF BHME  Tm /2 10572 0.00
5 58.95 0.00
6 HO BiME BF WHE 12l i 43.13 0.00
7

NO.10 50m/X 32754

(18] (EE8k] [(&E] [HE] [XK%)
1HAX FE XF 1% 68 /M 1:20.32 58.26
2 BH KB XF WHE 8@ /M2 51.63 0.00
3 FH EH ZF HHE 108 /S 0.00
4 _#F BX BF ®HE 11&% /6 38.35 0.00
5 HO BiME BF HHE 128 &1 35.57 0.00
6
7

NO.11 50mE B¢

[1#8] [528%] [&xE] [HE#E] [K£]
1
2
3 |E Ly TF BE  9m /M 35.56
4
5 By 2 TF 1% 9% /M 1.01.99 35.56
6
7

[2#8] [528%] [&x] [H#E] [K£]
1ZAR EXE TF WHE 6% /M 1:02.83 0.00
2 £ H FEB TF WHE 6% /M 56.30 3%k 1:11.00 0.00
3 %% ER TF WHE  Tm% /2 1.03.42 0.00
4 )18 £X TF WHE  T& /2 1:05.13 0.00
5ERK RE ZF WHE  8E /N3 51.95 0.00
6 ik fEK TF WHE 9w /M 39.08 0.00
7

[3#H] [528%] [&x] [(H#E] [K£]
1
2 KiE #4% BF 13k 6m /M 1:19.98 4550
3 TFf R¥F B HE 9% /M 48.97 34.86
4tE EZB BF 1%k 10m%  /I\5 58.69 3k 56.00 32.32
5 Elff BE BF BT 105k /s 49.03 32.32
6 =H Ba BF 288 108 /N5 55.59 32.32
7




(448) (Egx] [(&E] [H#] [XR]
1

2 i XK By ®E 1E /2 53.49 0.00
3 kE FHX BF ®BHE T /N2 51.70 0.00
4BR MF By ®E 1E /2 4291 0.00
5 (Ll EHE B¥ ®#E 8F /3 43.89 0.00
6 48.93 0.00
7

[5#8] [iE8k] [&®E] [H#FE] [K£)
1
2 RiF BE BF ®#HE 8&F /3 46.62 0.00
S=H @B BF ®BHE 9% /M 36.53 0.00
4 ZF gt BF HBHE 11m /6 35.35 0.00
5 &R A BF ®HE 11E /6 34.01 0.00
6
7

[1#8] (B8] [&®E] [HE#FE] [K£)
1
2
3
4 KR A= BF BT 125 41 1:32.52 0.00
5
6
7

[2#8] (B8] [&®E] [HE#FE] [K£R)
1
2
3
4
5
6
7

[3#H] (B8] [B®E] [HE#FE] [K£R)
1
2
3
4
5
6
7




